Zd TOA SPEAKER WALL MOUNTING BRACKET  HY-WM7TW

BDESCRIPTION
The HY-WM7W Speaker Wall Mounting Bracket is intended for mounting the HX—7W Speaker System
to the wall by using in combination with the optional HY=VM7W Speaker Rigging Bracket.

BSPECIFICATIONS
Finish Steel plate, white, semi—gloss, paint
Weight 5 kg (11.02 1b)
Accessory Speaker mounting bolt -4
Option Speaker rigging bracket: HY=-VM7W
Product Composition |Bracket A -1, Bracket B -1

Note: Wall mounting bolts and nuts are not supplied.

BAPPEARANCE
Bracket A .
T e w20 [4.727]
(043N =i 90 [3.54"]
] )
’g A $ B
To D
il RS
5| Sple] = el
o
S| g—|e O =g
N 0ol ™~
oS
v
-
| 60 [2.367] | 440 [17.32"] N
- > = -
Bracket B
4—¢9.2 [0.36”
4 ) : ]
© $?:71ﬂ Eﬁ
3| M S 5 Speaker mounting example (scale: 1/15)
o & IR T k)
150 [5.917] Bracket A
176 [6.93"] N Bracket B

HY—VM7W

Speaker: 30" mode Speaker: 15° mode
Bracket: When set to a tilt angle of 25" Bracket: When set to a tilt angle of O

Note: Wires, anchor shackles, and carabiners necessary for hanging are
not supplied with the product.
UNIT:mm  SCALE:1/5

14K TOA Corporation DWG No: GHYO3KAL



74 TOA

BDESCRIPTION

SPEAKER RIGGING BRACKET

HY-VM7W

The HY-VM7W Speaker Rigging Bracket is designed to mount the HX-7W Speaker System to the

wall or ceiling by usin
Hy

With the use of the

or suspended from the ceiling by using eyebolts.

in combination with the optional mounting bracket.
—VM7W only, the speaker system can be mounted to the ceiling or beams,

BSPECIFICATIONS
Finish Steel plate, white, semi—qgloss, paint
Weight 4.8 kg (10.58 Ib)
Accessory Speaker mounting bolt -1 set, Bracket mounting bolt -1 set
Option Speaker wall mounting bracket: HY—WM7W
Ceiling mount bracket: HY-CO801W
Product composition T—bracket -1, Angle bracket -1, Mounting base -1

Note: Ceiling or beam mounting bolts and nuts are not supplied.

BAPPEARANCE
T—bracket
2—M8 (weld nut) &’
— ©
2 M
N . —
= 353 [13.9”] _ 21D Speaker
0 | —| O | © mounting hole
= Yo —é/
ol 1 ” i | ¢ | = 9 L7 14-88.5 [0.33"]
/ 6080169 | 16—98.5 [0.33"] I F
1 6 6 N ®
Y . =
6 W7 & 3 o
o el Speaker
. 6008016 g i Y $3/w
~ o
5| .+ 3 .
A R
E 2 g '_|r : 6 o & |2-M8 (weld nut) g '_|V ‘ &
N v oI5 1t
3| 2 — ¢ I v 8|2 — i
- 5| | |60 [2.367] - 5| ] !< 27 [1.06"]
— o)) 2] | @
=N~ 120 [4.72"] =N 56.8 [2.24”]
o|c| I - o3| |le—»
n | — 0 | —
o o
N N
g 433 [17.05] N
’ 120 [4.72"]
I i
Il | | |
] "" 1]
UNIT:mm  SCALE:1/6
14K DWG No: GHYO3HA1

TOA Corporation




zd TOA

SPEAKER RIGGING BRACKET HY-VM7W
BAPPEARANCE
Angle bracket Mounting base —]
— 3 ” ©| I
' S 183 [7.27] 3 ;
20 [0.79”] 150 [5.91"] o 20 [5917] =
- > o © | =
(@] N
© | - 0 L0 0O i |
] @ @ A
® @ —+
\
@ @ _ Y imi € im Wimi] @i-m
: 4—-M8 (weld nut)
8—M6 (weld nut)
183 [7.27]
10 [0.39"] 12-¢6.5 [0.26"] 25 [0.98"] | | 90 [3.54"]
T 5 r 10 [0.39”]
O O o —
590 v
® ° , EKEE o —T
— | [} [}
= K 33 [1.37 25 [0.98"] —| —
x 2 SN} [0.98") |
- N M~ [Q\]
2, - o =
<o) — —
2 ~ 2 ™
Speaker mounting example (scale: 1/15)
HY—WM7W
o - (option) \
Angle bracket 7
Mounting

T—bracket

e = =

Suspending from the ceiling

base

%/

When installed on a wall

(only the T—bracket is used)

Note: Wires, anchor shackles, and carabiners necessary for
hanging are not supplied with the product.

UNIT:mm  SCALE:1/6

14K TOA Corporation

DWG No: GHYO3HC1




